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PV = RT -----------------(1.8)
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a--bb

w 2 v2

lW2 = J
dw = J p.dv --------------(1*13)
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hwi%sia~~~ti~td~aulJ  =  - d v  =  - A . d x

E& work done dw = (P.A).  (-dx)

dr = p. (-A.dx)

dw = -p.dv ---------------(l-14)
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v2

A’B  = J
P.dv  = idE14  ABCD

‘1

uaawnfiuni7hi7a Pv = RT
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P = RT
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v2

%=  AQ= J RT.dv
-V

V1

wT = AuB = RT In V2

p1wT = AwB  = RT In p

2
-------------(l-IT)

----w---------(1.16)
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yQ = lU2  = I I
&.dv

J
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v2
= K dv
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vy

= K

c

l- 1 ------------(1*21)- -  ~
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I@$
= O'(dT)p

6 = + <$
-----------------(1.24)
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K =
V2(  v-b)2

RTV3- 2a(V-bj2
------------------(l-31)
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7 .  ~u~~A&L&A+I  ii1 F(x, y ,  z)  =  0 uh

(ax)  . (zq (as) = 0
w z a2 X' ax y
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1. a50 lbs

3. n. 3.1 kg-mole

8. 98  kg

A. 215 lbs

3. 393 atm

' 9. 2.6 kg-mole

5. 1.01 x lo5 N/me

6. n. 480.4 atm

Il.  506 atm

R. 8315, 8700 J/kg-mole : K

a. 3.8 x lOA J

9. 1 . 6 9  x  lo5 J

lo. n. - 1 9 . 5  x  lo4 J

1.  -27 x lOa J
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